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KENDRIYA VIDYALAYA SANGATHAN - DELHI REGION
Preboard -II Examination-2024-25

Class - X Subject: English Communicative
MM: 80 Time: 3 Hours

General Instructions:

Read the following instructions very carefully and strictly follow them
[ This question paper has 10 questions. All questions are compulsory.
II This question paper contains four sections:
Section A: Read Reading Skills
Section B: Writing Skills
Section C: Grammar
Section D: Literature Textbook
[II. Attempt all questions based on specific instructions for each part. Write the correct question number
and part thereof in your answer sheet.
[V. Separate instructions are given with each question/part, wherever necessary.
V. Adhere to the prescribed word limit while answering the questions.

SECTION A- Reading

1. Read the following passage 12

(1) Drishti was a young woman with a fascination for the supernatural. She spent hours reading books and
watching documentaries on ghosts, convinced that otherworldly beings existed. When she heard of an
abandoned hotel on the outskirts of town rumoured to be haunted, she knew she had to investigate. She
decided to sneak into the hotel one dark night with a few friends. As they made their way through the dim,
eerie corridors, strange noises echoed around them, and cold spots brushed their skin. The setting
amplified the suspense, making them feel on edge.

(2) With only her torchlight barely illuminating the darkness, Drishti suddenly heard a loud creak from
behind. Startled, she quickly whipped around, pointing her flashlight toward the noise, but nothing was
there. Shaken, they all quickened their pace. The feeling of suspense grew stronger as they wandered
further into the decaying structure, convinced they were not alone.

(3) As they continued, they stumbled upon a room unlike the others, filled with cooking equipment and
strange symbols etched on the walls. Drishti felt a deep chill run down her spine upon entering. This room
had a dark aura; it felt like the very heart of the paranormal activities rumoured about the hotel. As they
examined the symbols, a loud bang echoed from the hallway. They froze, unsure of what awaited them.
Soon, the sound of footsteps grew louder, and they realized they had to hide.

(4) They ducked behind some old shelves as the footsteps grew closer. A sinister breathing sound filled
the room, sending shivers down their spines. Peeking around the corner, they saw a figure standing in the



doorway—a man in a chef's hat, with a twisted smile on his face. His gaze was icy, his presence unnerving,
as he whispered, "You shouldn’t be here." They were petrified, each breath sending chills down their
spines, as they stared into the chef's cold, unblinking eyes.

(5) Suddenly, the lights flickered on, and the figure vanished. They looked around the room and realized
that the entire event might have been caused by faulty wiring. Disappointed, Drishti and her friends left
the hotel feeling deflated. The excitement and thrill of experiencing the supernatural had dissolved into a
simple realization: everything could be explained rationally. As they drove home, they felt foolish for
getting so worked up over nothing, realizing they had let their imaginations take control.

(6)That night, Drishti learned a valuable lesson: sometimes, the scariest things are the ones our minds
create. She realized she didn't need ghosts to experience excitement. The real world was full of mysteries
and thrills, and she didn’t need the supernatural to appreciate its wonder.

Answer the following questions based on the passage above.

[ Why did Drishti and her friends decide to visit the abandoned hotel? (D
A) They wanted to prove ghosts existed.

B) They heard it was haunted and wanted to investigate.

C) They wanted to make a documentary.

D) They were dared to explore it.

Il What did Drishti feel when she entered the room with symbols on the walls? (D
A) Curiosity

B) Excitement

C) A deep chill and unease

D) Happiness

[II What was Drishti's hobby related to the supernatural? (1)
IV How did Drishti and her friends feel while walking through the hotel? (1)
V What lesson did Drishti learn by the end of the story? (D

VI Assertion (A): Drishti and her friends felt a chilling fear when they entered the room with strange
symbols on the walls. (D

Reason (R): The room had a dark aura and appeared to be the center of paranormal activity, heightening
their sense of fear.

A) Both Assertion (A) and Reason (R) are true, and (R) is the correct explanation of (A).

B) Both Assertion (A) and Reason (R) are true, but (R) is not the correct explanation of (A).

C) Assertion (A) is true, but Reason (R) is false.

D) Assertion (A) is false, but Reason (R) is true.(1)

VII Briefly explain (in 30-40 words) any two elements that classify the story as scary? (2)
VIII Explain what Drishti and her friends saw and felt in the room with cooking equipment and symbols
on the walls. (2)

IX How did Drishti’s perspective on the supernatural change by the end of the story? (2)



2. Read the following passage: 10
What All Swimming Can Do for You?

Learning to swim can open a world of opportunity for you. The lessons learned during swimming can
benefit you throughout your entire life. Swimming is a fun and social activity that all kids enjoy, and it’s
also one of the healthiest physical activities a child can engage in. It is never too late to learn! Here are
some reasons why you should:

Enhances Lungs Capacity: One of the primary things swimmers are being taught from the start is how to
control their breath, which on the other hand, helps enhance their lung capacity. However, this allows
oxygen to pump through the body & provide energy more effectively.

Improves Concentration: Swimming takes quite a lot of coordination, both physically & mentally. There
is focus on arm pulls, leg kicks & breath control - which does not leave much margin to focus on anything
else. For this reason, kids become focused on enhancing their swimming skills & start seeing exceptional
results - finding out that concentrating indeed does have an impact on their ability to succeed!

Swimming is great for mental health: It releases endorphins, boosting happiness and reducing stress.
Additionally, swimming supports brain development by promoting healthy sleep, which is essential for
learning, memory, and emotional balance.

Swimming build muscles: It develops full-body strength safely. As a low-impact sport, it poses a lower
risk of joint or bone injuries compared to other sports. Plus, water exercise allows kids to train longer
without muscle pain.

Swimming enhances Cognitive Function: Although academics might not be the primary reason for
swimming lessons, they can improve cognitive abilities. Young swimmers often develop superior visual-
motor skKills, problem-solving abilities, and the ability to follow instructions earlier than their non-
swimming peers.

Swimming improves Social Intelligence: It can be a social, community-focused sport. Participating in
swimming helps kids feel part of a like-minded group, which builds social intelligence.

Answer the following questions, based on the passage above.
I State whether TRUE or FALSE: (1)

Swimmers are primarily taught breath control to increase their lung capacity, which has no impact on
oxygen circulation and energy levels in the body.

Il How does learning to control your breath during swimming contribute to enhanced lung capacity?

(1)
III One benefit of swimming for a child’s brain development is improved sleep, which is critical for brain
structure development as well as . (1)

IV Which among the following is a mental health benefit associated with swimming? (1)



a. Decreased endorphin levels

b. Boost in mood-enhancing brain chemicals
c. Increased feelings of sadness

d. Higher stress levels

V What cognitive benefits do children who swim early in life exhibit? (1)
a. Lower visual-motor skills

b. Delayed problem-solving abilities

c. Decreased academic performance

d. Superior following instructions skills

VI Why is swimming considered a low-impact sport? (1)
a. [t requires minimal physical strength

b. It has a high risk of joint injuries

c. [t allows for longer exercise without pain

d. It only uses upper body muscles

VII In what ways does swimming require coordination, and how does this improve concentration?

(2)

VIII In what way does swimming help children develop a sense of belonging? (2)

SECTION B - WRITING
3. As the school Head Girl, write an email, in about 50 words, to the Teacher Coordinator, Student
Enrichment Activities of your school, informing her/him of the need to schedule transport for the
participants of the inter-school dance competition, at the mandated venue. Include a reason why you
would need a smaller vehicle instead of the school bus.

You may copy the given template to write your email. (3)
from:
to:
Cc: transportoffice@gkschool.com
date: Sept 10,2023, 07:03 PM
subject:

4. Read the hints given below and complete the following description of Rahul’s grandmother in not more
than a 100 words. (4)

Rama Devi - 72 years old, grey hair, brown eyes, sweet voice - lost her husband at the age of 39 - 5
children, 8 grandchildren - keeps unwell, but has a very strong nature, lively - we enjoy listening to
her stories/experiences/singing - generation gap but shares bond - best friend.

5A. Write a letter to the librarian, City Library, in not more than 120 words, for purchase and addition of
popular fiction and non-fiction titles in Braille and also the intake of audio books, to promote inclusion.
You are Vikas an NGO employee, from the same city. You may use ideas from Unit 2: Education, along with
your own ideas to write this letter. (7)



OR

5B. You are Sahil Srivastava, a resident of Defence Colony, Guwahati. Your colony is facing the severe
problem of inadequate and contaminated water supply. You decide to express your views and make the
authorities aware of the situation by writing a letter to the Editor of the Guwahati Times, Guwahati. Write
your letter in about 100- 120 words.

6A. Space tourism, though in its early stages, is a reality. As Jagmeet Singh of class X-D, write an article for
your school magazine, in about 150 words, discussing the opportunities and challenges of space tourism,
the ethical considerations surrounding it and how it might impact society.

Use the given cues, along with your own ideas and those you may have gathered from Unit-3: Science, to

create this article. (8)

Safety concerns and potential accidents in space tourism
Space debris and the need for responsible space traffic management
Turning space into a commodity: the ethics of commercializing space

Promoting responsible and sustainable practices in space tourism
Balancing economic opportunities with environmental and social
responsibility

OR
6B. "Education is shifting from content-based learning to skill-based learning”. Courses like design, digital
skills, and entrepreneurship are now offered, letting students pick subjects based on their interests and talents.
Write a 150-word article sharing your thoughts on these changing trends in education."

SECTION C : GRAMMAR

7A. Complete the following passage with one word in each blank choosing from the option given in the
brackets: (1x3=3)

Scavengers are birds and animals that feed on dead or injured animals and plants. They clean the planet’s
organic waste. The moment they get nature’s warning signal - odour - they quickly 1))
(came/Coming/Come) to rescue. They break down the organic material into smaller pieces,
(I1) (Why/When/Which) are then eaten by decomposers and broken down into chemical parts.
These chemical parts, include nitrogen, carbon and (III) (The/a/an) nutrients are used again by
plants and animals. So without scavengers, the world would be covered with dead plants and animals!

7B. The following passage is not been edited. There is an error in each line against which a blank is given.
Write the incorrect word and the correction in your answer sheet. (1x4=4)
Incorrect word Correct word

Sleep much to stay in shape. This is (I) --m-mmmmmmmm e oo
that a recent study on the relationship (I1) -==-mmmmmmmmmm s oo
in sleep duration and overweight (IIT) =mmmmmmmmmmmmmmee cmmmemoieeeeeee

risk from third - grade and sixth - grade (IV) oo e
children said.



7C. Report the dialogue to complete the paragraph given below: (1x3=3)
Father: Tomorrow is Diwali, ’'m going to buy some decorations. Do you need anything from the market?
Son: Can I come along with you, Dad?

Father: No, I need you to finish decorating the house while I’'m gone.

Son: Okay, Dad, I’ll stay back and take care of the decorations.

Father told his son(I)..................... some decorations. He asked if his son needed anything from the market.
The son asked if (II)........................... The father replied in the negative and said that he needed him to finish
decorating the house while he was gone. The son agreed and said (IIT)............................ decoration.

SECTION D- LITERATURE

8.Read the given excerpts and answer the questions briefly, for ANY TWO excerpts, of the three, given.
(2x4=8M)
(A) But must I confess how I liked him,

How glad I was he had come like a guest in quiet, to drink
at my water-trough
And depart peaceful, pacified, and thankless,
Into the burning bowels of this earth?

(The Snake)

[ What can be inferred about the speaker's attitude towards nature based on the excerpt?

II List the meaning of the phrase "burning bowels of this earth”.

[II How is the snake's arrival and departure symbolic?

[V The speaker compares the snake to the guest. Which word in the extract displays the snake’s non-guest
like behaviour?

(B) CAESAR: And you are come in very happy time,
To bear my greeting to the senators

And tell them that [ will not come to-day:
CALPURNIA: Say he is sick.

(Julius Caesar)

[ Whom does Caesar greet in the first line?

Il What message does Caesar want to send to the senators?

[IIl What makes Caesar change his mind?

IV What is the implication of Caesar's decision not to go to the Senate?

(C) “Well," I said, "we're leaving on Monday. Is there anything I can do for you before we go?"

Nicola shook his head, but suddenly Jacopo said, “Sir," he burst out, "every Sunday we make a visit to the
country, to Poleta, 30 kilometres from here. Usually, we hire bicycles. But tomorrow, since you are so kind,
you might send us in your car."

[ had already told Luigi he might have the Sunday off. However, I answered, “I'll drive you out myself."



There was a pause. Nicola was glaring at his young brother in vexation . "We could not think of troubling
you, sir."
"It won't be any trouble.”

(Two Gentlemen of Verona)

L. Identify the phrase that indicates that the visit to Poleta on Sundays is significant as a routine or tradition.
II. What does the narrator's offer to drive the brothers to Poleta reveal about his character?

III. Why was there a pause after the narrator’s offer?

IV. State one reason why Jacopo might have wanted a car ride despite the choice of hired bicycles?

9. Answer ANY FIVE questions of the following SIX questions in about 40 words.
(5x2=10)
(i) What does the writer wish to convey via the use of the metaphor for a false friend in the given line
from The Letter?

..the cold used sleep to extend its sway over all things even as a false friend lulls his chosen  victim
with caressing smiles.

(ii) How is the nightingale affected when the income and attendance at her concerts dwindle?

(iii) How effective is the use of the phrase "Nothing beside remains"”, in conveying the theme of the
transience and impermanence of power and human achievement, in Ozymandias by P.B.Shelley?

(iv) What kind of weather did the sailors enjoy at the beginning of their journey? How has it been depicted
in the poem?

(v) In the story, Virtually True, Michael said, "That's what I like about computers. The

more futuristic they get, the better you can understand the past." Explain what he meant.

(vi) What is Stanley Houghton's primary purpose in employing irony in the play “The Dear Departed’?

10 Answer ANY ONE of the following two questions in about 150 words. 1x8=8

I. Even though both, the frog from Vikram Seth’s poem, The Frog and the Nightingale and Abel 's children
from the play, The Dear Departed, display greed, there are differences. Elaborate, in about 150 words,
how the greed of the frog and that of Abel's children differ in motivation, actions, relationship, and

consequences.
OR

II. Mark Antony in ‘Julius Caesar’ says,
‘Now let it work. Mischief, thou art afoot,
Take thou what course thou wilt!’

How was Antony successful in instigating the people of Rome against the conspirators? Write your answer
in about 150 words.
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General Instructions

1. This question paper contains 38 questions. All questions are compulsory.
2. This Question paper has 5 sections A, B, C, D and E.
3. Section A has 20 MCQs of 1 mark each.
4. Section B has 5 questions carrying 02 marks each.
5. Section C has 6 questions carrying 03 marks each
6. Section D has 4 questions carrying 05 marks each.
7. Section E has 3 case based integrated questions carrying 04 marks each.
8. Draw neat diagrams wherever required. Take = % wherever required if not stated.
SECTION-A
This section consists of 20 questions of 1 mark each
1. Ifthe sum of zeroes of the polynomial p(x)=2x2-kx+1 is 2, then the value of k is 1
(@) 4 (b) 2 (c) -2 (d 5
2. Ifthe probability of a player winning a game is 0.79, then the probability of his losing this game is :
(a) 1.79 (b) 0.31 (c) 0.21 (d) 0.41 1
3. The pair of linear equations 2x = 5y + 6 and 15y = 6x -18 represents two lines whichare 1
(a) intersecting (b) parallel (c) coincident (d) either intersecting or parallel
4. A cardis drawn at random from a well shuffled pack of 52 cards. The probability that the
drawn card is not an ace is : 1
1 9 4 12
@ 5 (b) ) 3 (d) 3
5. The roots of the equation x?+ 3x - 10 are : 1
(@ 2,-5 (b)-2,5 () 2,5 (d)-2,-5
6. Ifx=asecO andy =b tan® then x%/a2 - y2/b? is equal to : 1
(a) az (b) b2 (01 (d)-1
7. The centre of a circle is at (2, 0). If one end of a diameter is (6, 0), then the other end is at :
(a) (0,0) (b) (4,0) (c) (-2,0) (d) (-6,0) 1
8. The middle most term of a data arranged in order is called :
(a) mode (b) median (c) mean (d) deviation 1
9. Ifsin A =2/3, then the value of cot Ais: 1
(a) V5/2 (b) 3/2 (c) 5/4 (d) 2/3
10. The value of p for which (2p+1), 10, and (5p+5) are three consective terms of an APis : 1
(a) -1 (b) -2 (01 (d) 2
11. If two positive integers p and q can be expressed as p = 18a2b* and q = 20a3b2 where p
and q are prime numbers then LCM (p, q) is: 1
() 2 a2b? (b) 180azb? (c) 12a%b2 (d) 180a3b*
12. Let p be a prime number, then the quadratic equation having its roots as factorsofpis: 1

(@) x2-px+p=0 (b) x2- (p+1)x+p=0 (c) x2+ (p+1)x+p=0 (d) x2-px+p+1=0
13. Maximum number of common tangents that can be drawn to two circles touches at a point is

(@ 4 (b) 3 (c) 2 (d1 1
14. The number of revolutions made by a circular wheel of radius 0.25m in rolling a distance of
11 km are:



(a) 2800 (b) 4000 (c) 5500 (d) 7000 1
15. A solid sphere is cut into two hemispheres. The ratio of the surface areas of sphere to that
of two hemispheres taken together,is

(@1:1 (b) 1:4 (c) 2:3 (d) 3:2 1

16. The volume of the largest right circular cone that can be carved out from a solid cube of

edge2 cmiis:

(a) 4m/3 cu cm. (b) 5m/3 cucm. (c) 8n/3cucm. (d).2m/3 cucm 1

17. For the following marks distribution of 80 students:

bel bel
Mark ow ow bel bel bel bel
S 10 20 ow ow ow ow
30 40 50 60
3 12 27
Num 57 75 80
ber
of
Stud
ents

The modal class is :
(a). 10 - 20. (b). 20 - 30. (c)- 30-40. (d) 50-60 1
The points (-4, 0) (4, 0) and (0, 3) are the vertices of a
(a). Right triangle (b) Isosceles triangle 1
(c)-Equilateral triangle (d) scalene triangle
DIRECTION: In the question number 19 and 20 a statement of assertion (A) is followed by
a statement of Reason (R). Choose the correct option
19. Assertion (A) : The tangents drawn at the end points of a diameter of a circle are parallel to 1

parallel to the longest chord
Reason: Diameter is the longest chord of a circle.
(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation

(b) Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation

Assersion( A)
(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.
20. Assertion (A) :If AABC and APQR are congruent triangles then they are also similar triangles 1

Reason (R): all congruent triangles are similar but the similar triangles need not to be congruent
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(a) Both Assertion (A) and reason (R) are true and reason (R) is the correct explanation of A

(b) Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation
of assertion A

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

SECTION B

This section consists of 5 questions of 2 marks each
21. Showthat5x11x 17 +3x11is a composite number.

OR

On a morning walk three persons step out together and their steps measures 30 cm,
36 cm and 40 cm respectively what is the minimum distance should walk so that each can

cover the same distance in complete steps

22. Point P and Q trisect the line segment joining the points A (- 2, 0) and B (0, 8) such that 2

P is nearer to A. Find the coordinates of points P and Q.
23. Prove that: (1 + Sec A)/SecA =Sin?A/(1 — CosA )
24. If afair coin is tossed twice, Find the probability of getting atmost one head. 2

OR

Cards numbered 7 to 40 were put in a box. Poonam selects a card at random. What

is the probability that Poonam select a card which is a multiple of 7 ?

25. If two adjacent vertices of a parallelograms are (3, 2) and (-1, 0)and the diagonals 2

intersect at (2, - 5), then find the coordinates of the other two vertices.

SECTION C
This section consists of 6 questions of 3 marks each.
26. Prove that V3 is an irrational number.
27. Find the quadratic polynomial whose zeros are reciprocal of the zeros of the
polynomial f(x)=ax?+ bx+c, a#0, c#0 3
28. Infigure £ D=2 E and AD/DB = AE/ EC, prove that ABAC is an isosceles triangle. 3



B C
(For Visually Impaired Only)
State and Prove Basic Proportionality Theorem
OR

ABCD is a trapezium in which AB || DC and its diagonals intersect each other at the
Point O, show that AO/BO = CO/DO

1 1 1
29. Prove that (COS . cos9) (ﬁ -sin@) = Tanficotd 3
30. The perimeter of a certain sector of a circle of radius 5.6 m is 20 m, find the area of the
Sector 3
OR

In the given figure arcs have been drawn of radius 7cm each with vertices A, B, C
and D of quadrilateral ABCD as centres Find the area of the shaded region

/D\D

B
(For Visually Impaired Only)
A horse is tied to a peg corner of square shape grass field of side 15m by means of a 5m long
Rope. Find the area of that part of the filed in which the horse can graze.

31. Find the value of m for which the roots of the equation. mx (6x + 10) + 25 = 0,
are equal. 3
SECTION D
This section consists of 4 questions of 5 marks each.

32. Draw the graph of the equations x - y + 1=zero and 3x + 2y - 12 = 0 determine the
coordinates of the vertices of the triangle formed by these lines and x-axis and shade
the triangular region 5

OR

A train covered certain distance at a uniform speed if the train would have been
6km/hour faster it would have taken 4 hours less than the scheduled time and if the
train were slower by 6 km/hour it would have taken 6 hours more than the scheduled
time Find the length of the journey. .

33. Ifthe angle of elevation of a cloud from a point 10 meters above a lake is 30° and the 5
angle of depression of its reflection in the lake is 609, find the height of the cloud from
the surface of the lake.

34. Infigure a triangle ABC with 2B =900 shown. Taking AB as diameter, a circle has been 5
drawn intersecting AC at point P. Prove that the tangent drawn at point P bisect BC.

p
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(For Visually Impaired Only)
Prove that the opposite sides of a quadrilateral circumscribing a circle subtend supplementary
angles at the center of the circle.
35. Student noted the number of cars passing through his spot on a road for 100 periods

each of 3 minutes and summarised it in the table given below find the mean and the
median of the following data 5

Nu 0 1 4 6
m - 0 0 0
be 1 -
r 0 2
of 0
ca
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OR

median of the following data is 50 find the values of P and Q if the sum of frequencyis 90,
also find the mode

Marks 2 3 4 5 6 7 8

0 0 0

3 4 5 6 7 8 9

0 0 0 0 0 0 0

p 1 2 2 q 8 1

Freque 5 5 0 0
ncy




SECTION E
This section consists of three case study based questions of 4 marks each
36. Manpreet Kaur is the national record holder for women in the shot-put discipline. Her throw of 18.86m at the
Asian Grand Prix in 2017 is the biggest distance for an Indian female athlete. Keeping her as a role model, Sanjitha
is determined to earn gold in Olympics one day. Initially her throw reached 7.56m only. Being an athlete she
regularly practiced both in the morning and in the evenings and was able to improve with the distance by 9cm

every week. During the special camp for 15 days she started with 40 throws and every day kept increasing the
number throws by 12 to achieve this remarkable progress.

Based on the above information answer the following questions:
(i) How many throws Sanjitha practiced on 11th day of the camp ? 1
(i) What would be Sanjitha's throw distance at the end of 6 months? 2
OR
When will she be able to achive a throw of 11.16 m?
(iii) How many throws did she do during the entire camp of 15 days? 1

3 7 Wijay's Houwse

Ajay's House

Vijay is trying to find the average height of a tower near his house. He is using the properties of
similar triangles. The height of Vijay’s house is 20m when Vijay’s house casts a shadow 10m long
on the ground. At the same time, the tower casts a shadow 50m long on

the ground. And the house of Ajay casts 20m long shadow on the ground.
Based on the above information answer the following questions.
(i) What is the height of tower? 1

(i) What is the height of Ajay's house? 1



(iii) When the tower cast shadow 40m same time what will be the length of the

shadow of Ajay's house
OR

When the tower cast shadow of 40m, same time what will be the length of the
shadows of Vijay's house?

38. The word 'circus' has the same root as 'circle’. In a closed circular area, various

entertainment acts including human skill and animal training are presented before

the crowd. A circus tent is cylindrical upto a height of 8 m and conical above it. The

diameter of the base is 28 m and total height of tentis 18.5 m.

/ X
74 \
v |

Based on the above information answer the following questions
(i) Find slant height of the conical part
(ii) Determine the floor area of the tent
(iii) Find area of the cloth used for making tent

OR

Find total volume of air inside the empty tent
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General Instructions:
1. This question paper consists of 39 questions in 5 sections.
2. All questions are compulsory. However, an internal choice is provided in some questions. A student is
expected to attempt only one of these questions.
3. Section A consists of 20 objective type questions, including MCQs and Assertion-Reason type questions,
carrying 1 mark each.
4. Section B consists of 6 Short answer type questions-I, carrying 02 marks each. Answers to these questions
should be in the range of 30 to 50 words.
5. Section C consists of 7 Short Answer type questions-Il, carrying 03 marks each. Answers to these questions
should be in the range of 50 to 80 words.
6. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these questions
should be in the range of 80 to 120 words.
7. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts.

Section-A
Select and write the most appropriate option out of the four options given for each of the
questions 1 - 20. There is no negative mark for an incorrect response.

1. Which of the following substances has the chemical formula CaCO3 ?
(i) Limestone
(i) Chalk
(iii) marble
(iv) Lime water
(@) (i), (i) and (iv) (c) (ii) and (iii)
(b) (i), (ii) and (iii) (d) all four

2. Which of the following statements is not correct about soaps and detergents.
(a) both soap and detergent are cleansing agents.
(b) soaps are suitable for use in soft water whereas detergent are suitable for hard water.
(c) detergents are sodium or potassium salts of long chain carboxylic acids.
(d) detergents are usually used to make shampoos.

3. A metal hydrogencarbonate reacts with solution ‘X’ which forms a salt, water and a gas ‘Y’. What
are Xand Y?
(@) Xis HCI, Y is H2
(b) X'is NaOH, Y is H2
(c) Xis HCI, Y is CO2
(d) X'is NaOH, Y is CO2



10.

11.

A student adds a highly reactive in a test tube containing water. The pH of the solution
(a) Increases

(b) Decreases

(c) remains same

(d) first decreases then increases a

Observe the following diagram and identify the parts D, E and F. They —
(a) cotyledon, plumule and radicle respectively.

(b) plumule, radicle and cotyledon respectively.

(c) plumule, cotyledon and radicle respectively.

(d) radicle, cotyledon and plumule respectively.

FOR VISUALLY IMPAIRED ONLY

A small pore on the seed, through which water enters inside it, is

(a) micropyle

(b) hilum

(c) plumule

(d) radicle

In a synapse, chemical signal is transmitted from

(a) dendritic end of one neuron to axonalend of another neuron.
(b) axon to cell body of the same neuron.

(c) cell body to axonalend of the same neuron.

(d) axonal end of one neuron to dendritic end of another neuron.

Vegetative propagation refers to formation of new plants from
(a) stem, roots and flowers.

(b) stem, flowers and fruits.

(c) stem, roots and leaves.

(d) stem, leaves and flowers.

choose the form(s) in which most plants absorb nitrogen:
(i) proteins
(i) nitrates
(iii) nitrites
(iv) atmospheric nitrogen
(@) (i), (i) and (iv)
(b) (iii) only
(c) (ii) only
(d) (i) and(ii)

A zygote which has an X-chromosome inherited from the father will develop into:
(a) a boy

(b) a girl

(c) X- chromosome does not determine the sex of a child.

(d) either a boy or a girl.

The magnifying power of a convex lens
(a) is always more than 1.

(b) is always less than 1.

(c) is always 1.

(d) can have any value.

twinkling of stars is due to
(a) atmospheric dispersion of light by water droplets.
P



(b) atmospheric refraction of light by different layers of varying refractive indices.
(c) atmospheric scattering of light by dust particles.
(d) internal reflection of light by clouds.

12. What is the maximum and minimum resistance (in ohms) which can be made using 5 resistors

each of 5 ohm?
(a) 5, 1/25

(b) 25,5

(c) 251
(d)1,25

13. Unit of electric power may also be expressed as

(a) volt ampere
(b) kilowatt hour
(c) watt second
(d) joule second

14. Which of the following is not an ionic compound?

(a) magnesium chloride
(b) chloroform

(c) calcium oxide

(d) calcium chloride

15. Which group of organisms do not constitute a food chain?

(i) grass, lion, rabbit, wolf

(if) small aquatic organisms, man, fish, grasshopper
(iii) wolf, grass, snake, tiger

(iv) frog, snake, eagle, grass, grasshopper

(a) (i) and (iii)
(b) (iii) and (iv)
(c) (ii) and (iii)
(d) (i) and (iv)

16.In a food chain, the third trophic level is always occupied by

(a) carnivores
(b) herbivores
(c) decomposers
(d) producers

Question no. 17 - 20 consist of two statements - Assertion (A) and Reason (R). Answer these
questions by selecting the most appropriate option, as given below:

17.

18.

19.

20.

(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais true but R is false.
(d) A is false but R is true.
Assertion (A): Sodium chloride is a neutral salt.
Reason (R): The neutralization reaction between an acid and a base gives a salt and water.
Assertion (A): Reflex actions involve conscious processing of sensory information.
Reason (R): Reflex arcs bypass the brain and instead relay information directly to motor neurons
resulting in rapid, involuntary responses.
Assertion (A): Use of condoms helps prevent the transmission of many STDs.
Reason (R): Warts and HIV-AIDS are examples of STDs.
Assertion (A): A long, current-carrying, straight solenoid, when suspended freely, rests in
geographical north south direction.
Reason (R): A current-carrying solenoid behaves like a bar magnet, with its two ends behaving as
North and South pole.
P



21.

22.

23.

24.

25.

26.

27.

28.

29.
30.

31
32

33

be

Section-B
Question No. 21 to 26 are short answer type questions-l, carrying 2 marks each.
Give reason for the following:
(a) Mucus is secreted by gastric glands.
(b) Rate of breathing in aquatic organisms is much faster than in terrestrial organisms.
How do auxins promote the growth of a tendril around a support?
OR
what will happen if intake of iodine in our diet is very low?
The refractive index of diamond is 2.42. Write two conclusions that we can draw from this
statement.
OR
Name the type of mirror used in the following situations to justify your answer.
(i) headlight of a car (ii) side-view mirror of a vehicle.

(a) Why is the conversion of ethanol to ethanoic acid an oxidation reaction?
(b) Write the name of the oxidizing agent used in the above reaction.

Let’s refer to Mendel's experiment of crossing a pure tall(TT) pea plant with a pure short(tt) pea
plant, wherein we get all Tall offspring in F1 generation which, on selfing( self-pollination),
produced F2 generation having Tall and short plants in 3:1ratio. What experiment can we do to
confirm that the F2 generation did in fact have a 1:2:1 ratio of TT, Tt and tt trait (genotypes)
combinations?

List four observations that help us to determine whether a chemical reaction has taken place.
Section-C
Question No. 27 to 33 are short answer type questions-Il, carrying 3 marks each.

Write a balanced chemical equation for the following reactions and also identify the type of
reaction in each case.

(a) Solutions of barium chloride and sodium sulphate in water react to give insoluble barium
sulphate and the solution of sodium chloride.

(b) sodium hydroxide solution (in water) reacts with hydrochloric acid solution (in water) to
produce sodium chloride solution and water.

Categorise the following salts as acidic, basic or neutral salt. Also, identify the acid and base used

to form each of them:

(i)potassium nitrate (ii) sodium carbonate (iii) zinc sulphate

What could be the reasons for adopting contraceptive methods? Write any three points.

(a) What is the far point and the near point of the human eye with normal vision?

(b) A person cannot see objects beyond 1.2 m distinctly. Identify the refractive defect in this case

and suggest what type of corrective lens can be used to restore proper vision.

. what is joule's law of heating? List its four applications in daily life.

. (a) It is established that an electric current through a metallic conductor produces a magnetic field
around it. Is there a similar magnetic field produced around a thin beam of moving (i)alpha
particles, (ii) neutrons. Justify your answer.

(c) Name and state the relevant rule applied in the above case.
. Differentiate between biodegradable and non-biodegradable substances. Cite examples.
OR
What is an eco- system? Give an example of a human-made ecosystem and explain how it can
converted into a self -sustaining ecosystem.

Section-D
Question No. 34 to 36 are long answer questions, carrying 5 marks each.



34. (a) Compound X and Aluminium are used to join railway tracks.ldentify the compound X and
name the reaction.
(b) Though aluminium reacts with air/oxygen but still it is used for making kitchen utensils. Explain.
(c) A metal M is found in nature as its sulphide MS. It is used in the galvanisation of iron articles.
Identify metal M and its ore MS.
(d) How will you convert the carbonate ore of this metal M into free metal? Explain with equations.

OR

State the reason for the following:
(a) Carbonate and sulphide ores are usually converted into oxides during the process of
extraction.
(b) NaCl does not conductelectricity in solid state.
(c) Hydrogen gas is not evolved when most metals react with nitric acid.
(d) Calcium does not occur in free state in nature.
(e) Sodium or potassium metals are kept immersed under kerosene.

35. (a) What are the different ways in which glucose is oxidised to provide energy in various
organisms?
(b)How is Oxygen and carbon dioxide transported in human beings?
OR
(a) How are fats digested in our bodies? Where does this process take place?
(b) What are the methods used by plants to get rid of excretory products? Write any two points.

36. (a)Find the focal length of a lens of power (—2.0) D. What type of lens is this?
(b) Define the principal focus of a concave mirror.

(c) The image of a candle flame formed by a lens is obtained on a screen placed on the other
side of the lens. If the image is three times the size of the flame and the distance between the lens
and the images 80 cm, at what distance should the candle be placed from the lens? What is the
nature of the image (at a distance of 80 cm) and the lens?

OR
(a) Find the size, position and nature of the image formed by a convex lens of focal length 20 cm,
when the object is placed in front of it at a distance of 10 cm from its optical centre.
(b) Water has refractive index 1.33 and alcohol has refractive index 1.36. Which of the two media
is optically denser? Give reason for your answer.

SECTION - E
Question No. 37 to 39 are case-based/data -based questions with 2 to 3 short sub-parts.
Internal choice is provided in one of these sub-parts.

37. A series of compounds which belong to the same family (i. e. possess same functional group) and
show similar chemical properties, constitutes a homologous series. The succeeding members of a
homologous series differ from each other by one — CH2 — unit.

(a) Write the name of the successive member of methane in its homologous series.
(b) What is the difference between two consecutive numbers of the homologous series of
alcohols, in terms of their molecular mass and number of atoms constituting them?
(c) Comment on the physical and chemical properties of compounds belonging to the same
homologous series.
OR
(c) Write the name and chemical formula of the first and second member of the homologous
series of carboxylic acids.

38. ELECTRIC CURRENT AND CIRCUIT

We are familiar with air current and water current. We know that flowing water constitute water

current in rivers. Similarly, if the electric charge flows through a conductor (for example, through a
P



39.

metallic wire), we say that there is an electric current in the conductor. In a torch, we know that the
cells (or a battery, when placed in proper order) provide flow of charges or an electric current
through the torch bulb to glow. We have also seen that the torch gives light only when its switch is
on. What does a switch do? A switch makes a conducting link between the cell and the bulb. A
continuous and closed path of an electric current is called an electric circuit. Now, if the circuit is
broken anywhere (or the switch of the torch is turned off), the current stops flowing and the bulb
does not glow.
(a) What does an electric circuit mean?
(b) Define electric current.
(c) Define one S.l.unit of electric current? Name the device used to measure it.

OR
Write the commercial unit of electricity and convert it into Joules.

In some families, either rural or urban, females are tortured for giving birth to a female child. They

do not seem to understand the scientific reason behind the birth of a boy or a girl. In fact, the

mother is not responsible for the sex of the child and it has been genetically proved that the sex of

a newborn is determined by what the child inherits from the father.

(a) State the basis on which the sex of a newborn baby is determined in humans.

(b) Why is the pair of sex chromosomes called a mismatched pair in males?

(c)How is the original number of chromosomes present in the parents restored in the progeny?
OR

(c) Explain by giving two examples of the organisms in which sex is not genetically determined.
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2. Section A - From questions 1 to 20 are MCQs of 1 mark each.
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7.Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2 marks)
and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been provided in
few questions. Only one of the choices in such questions must be attempted.

9. A separate question has been provided for visually impaired candidates in lieu of questions having
visual inputs, maps etc. Such questions are to be attempted by Visually impaired students only. In
addition to this, separate instructions are given with each section and question, wherever necessary
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SECTION A MCQs (20x1=20)

1) A large part of Balkan region was under the control of:-

A) Habsburg Empire. B) Russian Empire C) Ottoman Empire D)
Bourbon Empire

1) STeh &F BT T 91 HFT [ a0 7 -

a) SIS WHTH b) = WA ¢) ST T d)
EIERRSIEIE)

2) Gandhiji decided to launch nationwide wide Satyagraha against the-
(A) Champaran Satyagraha

(B) Kheda Satyagraha
(C) Ahmedabad Satyagraha
(D)Rowlatt Act
el A oo favs ATt ATuS ARG Y= B H iy femr
() YR TATTE @ TST IARTE GIEREHCICS D)
Al ae
3) Arrange the following in sequence—
1) Kheda Satyagraha 2) Non-Cooperation movement
3) Champaran Satyagraha 4) Jallianwala Bagh massacre
Options - A) 1-3-4-2. B) 1-3-2-4 C) 3-1-4-2. D) 3-1-2-4
fFofifad o) a7 ouafyd oe-
1) WST YATTE | 2) RGN SficierT 3) YURV YAWE 4) Sfrgrare S
BATDHIS
) 1-3-4-2. oy 1-3-2-4 1) 3-1-4-2 )y 3-1-2-4

4) The Oldest Japanese book, printed was-
(a) Ninety Five Theses
(b) Diamond Sutra
(c) History of Joseph Andrews
(d) Penny Magazine

T AT Gfad STaF! g oi-
a(q_zﬁqgﬂfrﬁraﬂm (&) BRT g @) SE® Tggs 1 gfae™ @©h

5) Agenda 21 was signed in-

(a) Club of Rome, 1968

(b) Earth Summit, 1992

(c) Brundtland Report, 1987
(d) National Forest Policy, 1952

ToiaT 21 TR g&leR vt u-

(@ 9 3% I, 1968 (@) gedt fRreR gmieH, 1992
@ siceie RUle, 1987 & ¥ 7 A, 1952
6) Wildlife Protection Act was implemented in:-

(a) 1970

(b) 1972




(c) 1973

(d) 1980
il &7 SfeTgH R fohar -
(@ 1970 @) 1972 & 1973 (31 1980

7) Conservation of forest is vital for human survival. From the below options, identify the
conservation strategies adopted in India.
1. Chipko Andolan
2. Beej Bachao Andolan
3. Navdanya
4. Sacred Groves
Options:-
(a) 1 and 2 Only
(b) 2 and 3 only
(c)1,2,30nly
(d) 1,2, 3,4 only
AMA RRIE & T I T TR&0 31 SIS ¢ | it faT 7T fasbedl # 9, HRd H $fUTS
TS EREUT XUFIAT B ugT PR
1. R sfidiem 2. S Srameft g 3. TG 4, 9747 JuaH
fdehey:-
(T) had 1 3R 2
(@ PHad 2 3R 3
@ Had 1,2, 3
(S Had 1,2, 3, 4

8) Identify the following image and mark the correct option:-

Options:
(a) Sri Lanka Parliament
(b) Indian Parliament
(c) European Parliament
(d) French Parliament

S & TS B BT UgaH IR gl ey o1 fafgd He-

faepea:

(@ SiciepT T9E @) HRdta Tae @) R e @) iR e
NOTE: The following question is for visually impaired candidates only in lieu of
question number 8.

8) Brussels is the Location of which Parliament?

(a) Sri Lanka Parliament
(b) Indian Parliament




(c) European Parliament

(d) French Parliament
0 S I 2 [ O M
I A 0 I

IO e WG BT RIH 72
UEISEIRRA (@ HRdG ¥9g (@ Rdig w9 (S it
Iq

9) When was an Act passed to recognise Sinhala as the only official language in Sri Lanka?
(a) 1947
(b) 1948
(c) 1956
(d) 1992
il H Rigel I UHHE SMYBTRS HINT & 30 H AFIAT ¢+ & ol U fIfaH we uikd
ICRIRICIRIK
(@) 1947
@) 1948
(& 1956

@ 1992

10) Which of the following subjects lie under State List:-
(1) Foreign Affairs (2) Police (3) Trade (4) Banking
Options-
(a) 2 and 3 only
(b) 1 and 4 only
(c) 3and 4 only
(d)2,3,40nl
St 1 ¢ 1 S T ) A e
(1) fac=h A (2) gfer (3) IR (4) o
faey
@ Pad 2 3R 3
(& Had 1 3R 4
(&M Pad 3 3R 4

@h Hada 2, 3, 4

11) Under which Article does some states enjoy special status?
(a) Article 356

(b) Article 15

(C) Article 371

(d) Article 360

59 3¢ & ded o Il &I faRy goif ure &2
(@) 3T=9G 356
@) =g 15
@) TG 371
(S 3G 360

12) Which act mandates that there should be equal wages for equal work?

(a) Women Reservation Act 2023
(b) Equal Remuneration Act 1976




(c) Panchayati Raj Act 1992
(d) Official Language Act 1956

D 1 AT U5 wedl g I A S & fofw gu = 9d- g @nfdw?
(Q) Higel REUT fYHTH 2023

(&) A T e SfafAad 1976

(&) gt I SifafAaH 1992

(S JTSTHTST SHAFRTT 1956

13) From among the social reformer select those who fought against the caste system:-
(1) Jyotiba Phule (2) Gandhiji (3) B.R. Ambedkar (4) Periyar Ramaswami
Naicker
Options:-
(a) 2 and 3 only
(b) 1, 2,3 only
() 1,2,3,40nly

d) 3 onl
Y b ror——yy

(1) SAfcreT Gt (2) Tidtei (3) IR, SfdsHR  (4) UNIR IHRATH
BIPE

famey:-

(@ BHIA23MR3 (@) PHad 1, 2,3 @hPada1,2,3,4 (S Had3

14) Which of the following is an example of a multi-party system?

a) USA b) India c) Britain d) All of the above
frafafed & 9 &H agedd JuIel &1 3aexul 82
a) I b) HRd o) fsea d) SWRIed gt

15) Identify the correct option which describe the given image:

Panla Padann:

Tha Dhillinninan

A Ma,

(a) Inequal distribution of Pie

(b) Inequal distribution of Land
(c) Inequal distribution of Wealth
(d) Inequal distribution of Power

39 5! faeed & Uga off SR ¢l 715 Bfd &1 quiF &l &

(@) UTS &1 A faaror @& YfH BT SRHE faaRor

(& & 1 3 fadRm (S Wfer BT A faarur

NOTE: The following question is for visually impaired candidates only in lieu of

question number 15
The most important outcome of democracy is




(a) Accountable government (b) Responsive government  (c) Both of them (d) None of
them

OOoo0 00d: 000000 000000 15 00 00000 00 0000000000 000000 0000
UHOoOOOOO00 DooDooDoood 00 oo 0o

Abad BT YT HedyU! URUIMA §
(T) STAEeE IR (@) ITRERH WPR @ usad @ FTHIDE
el

16) Infant Mortality Rate (IMR) indicates the number of children that die before the age of
as a proportion of 100 live children born in that particular year.

a) four years b) one year c) two years d) three years

R3] g R 39 faRw af & Ue1 g€ 100 SHifad s=a & Srgurd & ®U A Iy BT Mg
3 Usd TRA a1l Sl 1 W1 Bl 3T Bl 5

a) IR a9 b) U aY SEAKL] d) i Ty

17) Communication and banking are examples of ........... Sector.

a) Primary b) Secondary c) Tertiary  d) Bothaand

YR SR AT ... & & IR &

a) UTfie b) ATEARS ¢) Idas d) a 3R b gHl

18) Who issues Currency notes in India?

(a) Reserve Bank of India (b) Central Government (c) State Bank of India (d) State
Government

YRA H ST AT DI IR PIAT 52

(@ HRa o o @ FEWBFR @) URAT R dF (S I5T TWHR

19) Removing barriers or restrictions set by the government is known as

a) Globalisation b) Modernisation c) liberalisation d) Privatisation.
WHR gRT FYiRa srersft a1 ufaddl &1 ger & U T 1 11 §
) iR o) Syl T IeRieR SNEEIERUl

20) The Indian government, after Independence, had put barriers to foreign trade and foreign
investment. This was considered necessary to: -

a) Protect the producers outside the country from foreign competition.

b) Protect the producers within the country from foreign competition.

c) Protect the consumers within the country from foreign competition.

d) All of the above

3T} & ST HRA TRHR A fac=f SR ok fac=ft fFaw w amerd s & off| a8 smawas
HHLAT TAT-

T) SV & d16R & IdTGHh! & faceft ufaayt @ s=mm

o) <=1 P HIcR & Irae! DI fadt ufdeayf § sr=|

i & &b IJuHiael Bl faash ufereayl @ s

) SRIed gt

SECTION B VERY SHORT ANSWER QUESTION (4x2=8)

21) “Food offers many examples of long-distance cultural exchange.” Justify the statement.

I et g8 & IRPIAD HTEH-UGH & s 3ara0l Tdd Bl & | HUF &1 o R
EIIEIY

22) What are the factors responsible for the location of Jute industry? Write any 2 points.

P




e I 3t UMY & forg RrveR RS 1 87 Pis ol fawg fafau|

23) Why is power sharing desirable?
OR
How is power divided among different organs of government?

T &1 YIER} Iz 1 82
a7
WHR P fAfte 3T & ot I 1 favre foed UeR fobar S 82

24) “Federations are in contrast with Unitary Government”. Explain the statement.

Y ThTHD TRPR P [QURId 8" | HYT WY B

SECTION C SHORT ANSWER-BASED QUESTIONS (5x3=15)

25) What led the Colonial Government to pass the Vernacular Press Act? How did it affect the
Vernacular newspaper?

3MUfaRIE WHR P gafager O ffFaw uid o= & e frg HRur 9fkd g1 usn
AP TR SRGER TR T YHIEG T3T?

26) Explain the objectives of National Rural Employment Guarantee Act 2005.

RIS ATHIOT ASATR TTRET SHTATH 2005 & I 154 |

27) Describe the conditions required to grow the cotton crop.
OR
Describe the climatic conditions required to grow Rice.

HUN & HIA S & fole azad gRIUTIT) &1 auiH He|
a1
Iad 3T & o8 3faxges Saarg uRfRufaal &1 guH &1

28) It is not politics that gets caste-ridden, but it is the caste that gets politicised. Explain the
statement.

g JoHITT 81 & S Sfd-IRd 8 9iTdl 8, Sfeep I Sifdl & ForesT I e 81 SiidT 8 | Y
WY B,

29) Suggest some measure on how to protect small farmers in rural areas?

grtor & § B fHaml &1 JRem B9 BT O, T R $S U JIT?

SECTION D LONG ANSWER-BASED QUESTIONS (4X5=20)

30) Being a person living in rural India, explain the role of Self Help Groups (SHGs) in rural
society.

OR
“Cheap and affordable credit is crucial for the country’s development.” Justify the statement.

0T YR T X8 ATdT e g1 o A1d ATHIT TS H W6 Tg1adl 99g! (THuTsl) &t YHHT
D1 TRSAT B |

a1
"I 3R (P 01 52 & 9 & fog Ayl 81" & &1 siiferd R Sifom |

31) Who were Marianne and Germania? What was the importance of the way in which they
were portrayed?

OR
In Britain, the formation of nation-state was not the result of sudden upheaval or revolution,
but rather a long-drawn process. Explain.

AT iR ST B A7 59 dRe T 3= ffAd foar mar ST =1 7g un
P




[
fSre= H Y- BT T3 3o §3 SUA-YUd T1 hifdl DT URUTH g1 U, Sfeh Teb il Ufsha
ot | ST HRAT

32) Imagine that you are given the power to reform Political Parties, explain any five effective
measures to reform political parties in India.

OR
Reforming Indian political parties is a tough task, What are the various challenges associated
with the political parties?

HUT HIFOTE S T AITad Gl | UR B PI o of T8 5, URA H Ao gl
H gUR & fore foegl g guTet SUTdl &1 SRe $e |

a1
YR ISHIfe gal § YR TRA1 U Hid- B g, AoHiad aal o o fafdd gl ot
&

33) “There are many factors responsible to the soil erosion and ways to solve the problems.”
Analyze the Statement with examples.

OR
Why is resource planning essential in India?

e} & Fera & oI Fs HRS THER & SR TS &1 8 B & Ridh |" IaTeR0T fgd
DY FT fa=elwo B |

a7
YR & TreH e ot e §2

Section-E Case Study Based Questions(3x4)

34) Read the source given below and answer the questions that follow:

Worried by the developments, the colonial government began arresting the Congress leaders
one by one. This led to violent clashes in many palaces. When Abdul Ghaffar Khan, a devout
disciple of Mahatma Gandhi, was arrested in April 1930, angry crowds demonstrated in the
streets of Peshawar, facing armoured cars and police firing. Many were killed. A month later,
when Mahatma Gandhi himself was arrested, industrial workers in Sholapur attacked police
posts, municipal buildings, law courts and railway stations - all structures that symbolised
British rule. A frightened government responded with a policy of brutal repression. Peaceful
satyagrahis were attacked, women and children were beaten, and about 100,000 people were
arrested.

In such a situation, Mahatma Gandhi once again decided to call off the movement and entered
into a pact with Irwin on 5 March 1931. By this Gandhi-Irwin Pact, Gandhiji consented to
participate in a Round Table Conference (the Congress had boycotted the first Round Table
Conference) in London and the government agreed to release the political prisoners. In
December 1931, Gandhiji went to London for the conference, but the negotiations broke
down and he returned disappointed. Back in India, he discovered that the government had
begun a new cycle of repression. Ghaffar Khan and Jawaharlal Nehru were both in jail, the
Congress had been declared illegal, and a series of measures had been imposed to prevent
meetings, demonstrations and boycotts. With great apprehension, Mahatma Gandhi re-
launched the Civil Disobedience Movement. For over a year, the movement continued, but by
1934 it lost its momentum.

Q1- Gandhi-Irwin pact was signed in- (1)




(a) 1931
(b) 1934
(c) 1921
(d) 1930
Q2- Which Round Table Conference did Congress boycott? (1)
(a) First
(b) Second
(c) None of the above
(d) All of the above
Q3- Why did Gandhiji decide to call off the movement? (2)

3 fou e Hia &1 ug iR fgfeiaa usi & IR <

gerpd ¥ fifdd shufafie RER A TH-Tdh avd S Ad1el & FRUIR &A1 [ R
fan| 390 %3 Hedl # fRue ISt g5 | 919 3iUid 1930 W HeTHT Tieh & Ueh THiid R sisgd
TRFR W & FIRUR foam a1, ) Tars His 3 U=MaR &t 8&! IR sRaReg BRI SR gferd
MATRY BT AT HRd U T2 fFarl F2 @ AR T, T HeiA d1e, Sid Tad Hgre i
&I FIRUAIR = foran Tan, arqR & Shefie yfie! = gfer Aiferdl, TRuTfeissT Yo, ST
3feTadl 3R Yad WAl WR gHar fobar - gyt Wemm S fafewr smq &1 udies off| vaafia
WBR A FR G0 &1 i I wrare fear| ifagel gameal o gqer foar wa, Afgarsit ok
=l 1 dieT TT 3R THT 100,000 AT Y RRGAR farar T

O fRufa B AeTem Tieht 3 U IR AR 3ficia ¢ B &7 By fbar 3R 5 A 1931 B
RfAT & 1Y TH JHAT fobar| 39 Mieh-2faq qweia & gy, Tieish 3 Te Medst Tie
T YN o & fo Tafa oad &1 (@R A Ugd &1 SieShR fhdm o) de | Miads gwaH)
BT 3R WBHR oI sfedl Hi ReT H3 R Tg0d g3 fadar 1931 F iefioh I &
forg Sig 71U, Qfar araf ge TS iR 9 FRI=T B dle 3| YR a0y TR 3= udl 9dl fd
WBR A THT BT T 791 Th & B (641 ¢ | THRHR T 3R TAeaTd g% gl oid | 9,
HIY B A3y NG B foar T U, 3R Jo], uaTHl 3R IREBRI B A & g B
JUTT fhU T A | IST 3MRIPBT & A1, AT el A FiaTa 3fasT sfiaie &! R o == foea|
TS a8 ¥ U T I g el gadl g1, Wb 1934 T 9 301 Tl | &l
Tieft-g=fa gHEha W gwer fHd M-

(@ 1931

@ 1934

@ 1921

@1 1930

Q2- BT A ooy TMaHS T BT deSHR [Har?

(U Ugdl

(S g

h SWRIFd H ¥ oI5 el

(S SR Tt

Q3- el 7 siigie s B &1 Haar 3 faarn

35. Read the source given below and answer the questions that follow:

In the semi-arid and arid regions of Rajasthan, particularly in Bikaner, Phalodi and Barmer,
almost all the houses traditionally had underground tanks or tankas for storing drinking
water. The tanks could be as large as a big room; one household in Phalodi had a tank that
was 6.1 metres deep, 4.27 metres long and 2.44 metres wide. The tankas were part of the

P




well-developed rooftop rainwater harvesting system and were built inside the main house or
the courtyard. They were connected to the sloping roofs of the houses through a pipe. Rain
falling on the rooftops would travel down the pipe and was stored in these

underground ‘tankas’. The first spell of rain was usually not collected as this would clean the
roofs and the pipes. The rainwater from the subsequent showers was then collected. The
rainwater can be stored in the tankas till the next rainfall making it an extremely reliable
source of drinking water when all other sources are dried up, particularly in the summers.
Rainwater, or palar pani, as commonly referred to in these parts, is considered the purest
form of natural water. Many houses constructed underground rooms adjoining the ‘tanka’ to
beat the summer heat as it would keep the room cool.

(a) Name a traditional rain water harvesting technique commonly practiced in Rajasthan.

(b) In which part of the Rajasthan are tankas more commonly prevalent?

(1)
(c) Write any 2 advantages of rooftop rain water harvesting.

+ fau T Sa &1 u¢ iR Fafafed usl & S S

ORI & -3 3R Y &l T, TRy 0 9 fiepmR, Bad! ofR STtk & ame waft
I H URURS T J TH & U & HSRUN & 1T YT ¢ a1 TidT 81d A1 S Th 98 HHR
a7 98 8 I ©; Balldl H U TR | Uh b T il 6.1 HIeR TG, 4.27 Hicx TaT 31 2.44
Hex INST YT i 33t aRE U A Rid 3d R auf S/ Tag Yurel &1 3w 2 3R T TR
T 3 & 3R 1T 7T A1 d Th UIRY & HIegH W W &1 ool dreil &l A I gu A1 Sl
TR R areft arfver urgy § i ach o off SfR 38 o 81 St 2t YfPRTa T | SR R
SN B Ut SR DI TH e} foa ST Hifds I B 3R UTSY I 1 of1d | 3 §1
q1e Dt SRR I TR BT U Tehd foar 7| SR & Uil &t cidbrell T SiTelt 9IRS dob
TN foha ST Tovar 7, ORI 98 WA & Ul &1 U 3 fay-g Hid o 1 8, 519 3/
Tt O T O &, W TG A | auf ofd, a1 areR ur, SR fs 9 U # SHaR WR
8 ST 8, TP Id &1 T Y& U HHT ST 81 H3 ORI H 7 J Agd UM & o eien
& U YfATd SR 41T ST 3, Forae HeRT 31 g1 Tl

(Q) ISR H AR TR Jfold YRURSD aui Sidt Gaa deb-iieh ol A1 Sargy|

(& ISR & 6 Wt & eiepT 3ifires gaferd 22

@ BT R I oIt I & Bls &l BIAS ford |

(1)

(2)

36) Read the source given below and answer the questions that follow:

Besides seeking more income, one-way or the other, people also seek things like equal
treatment, freedom, security, and respect of others. They resent discrimination. All these are
important goals. In fact, in some cases, these may be more important than more income or
more consumption because material goods are not all that you need to live. Money, or
material things that one can buy with it, is one factor on which our life depends. But the
quality of our life also depends on non-material things mentioned above. If it is not obvious
to you, then just think of the role of your friends in your life. You may desire their friendship.
Similarly, there are many things that are not easily measured but they mean a lot to our lives.
These are often ignored. However, it will be wrong to conclude that what cannot be measured
is not

important. Consider another example, if you get a job in a far off place, before accepting it you
would try to consider many factors, apart from income, such as facilities for your family,

P




working atmosphere, or opportunity to learn. In another case, a job may give you less pay but
may offer regular employment that enhances your sense of security. Another job, however,
may offer high pay but no job security and also leave no time for your family. This will reduce
your sense of security and freedom. Similarly, for development, people look at a mix of goals.

a. Why a less paying job may give you a sense of security? (D

b. Besides income what are the other things that people seek? (1)

c. Money may buy a material thing, but quality of life depends on non-material things also.
Justify the Statement. (2)

+ feu T Sa ?1 U iR Fafafed vl & S S

forht 71 fordt ave S1fies 31mg &) ATed & SralTdl, AN YHH STdER, TaaIdl, JR&T 3R Gl &l
T S et ot argd §1 3% NeHTd ¥ TuRd 7. 3 9t Heayuf @& €. avda B, $@ Amal
¥, 3 3ifie oy a1 31w IUHT F 1% HEayul 81 Udhd § i Hifds axqy & 98 9«
$3 a1 g Sl 3Mueh! o4 & fore =i o, a1 Hifde el St dis 399 Wiie Il §, Uh
T SRS & o TR AR Sig R a1 g1 dfdr AR Sfieq 3t ot SWR adTs T8
affae diel Wt Rk ot 81 afe g amuds forg woy =8 8, & 99 oo St & oo
SR B YAHT & IR H T | 37T 3] Hd] B 351 R Thd & | 3! a8, Hs Iiol & 1970
ST ¥ A7 &Y o Yo A d §HR Sfia- & ot Sgd HIaA 3T & | §8 SRR ToR3{ETS
TR fean ST &, gaiies, ag fsey fasta mord g f3 foR aman 76} S geban a8 Feeyul
T, T 31 ISTeRN TR IR &3, I 3muah! freft ¥ M R Aiend fireclt B, a1 38 iR
TR T TS MY 3 & AT s HRD! IR [FIR B BT TR BT, o o 3o gRaR
& N AU, BT B T ARG A1 YRIA FT 3R | G AN H, Dis AH! 3ATUDHT HH
J ¢ Tl § fde (ATHd ISR YaH HR Tl § il SHTUSDT RET 1 HIaT Bl Fgit 5|
graies, GOt AIHd B I da dl e § Afea AHd 3 His JRa&m 6t gt 3R 3
ORaR & forg off T T SadT| SN SMTUST YREM SR Wil B U1 Y g1 et | gt
&RE, faw™ & fore A a&dt & Ay & dad &l

(@) HH I a1l AIDHRT DT GR&M B HIGHT T ¢ Favell 57 1

(@) ST & AT 3R DI T I § [T TN AT HRel 57 1

@) T PIs Wfdew axg WL ST bt g, Al Sita 1 Turaa off ik ot @ snitfas
g3l R, B F1 3ffa g w11 2

Section-F Map based Questions (1x5)

37.1 Two places A and B are marked on the outline Political map of India. Identify these places with the
help of following information. 2
A) A place where peasant satyagraha took place.

B) Place related to Indian National Congress session of Sept.1920.

YRA & TUGT oD TR W & R A 3R B 3ifdrd g1 Fafiied THeR! & wgrd ¥ 34
Rl $1 UgdH B

A) T8 T g1 fh TARI8 gl Tl

o) RidsR 1920 & HRTA T DY UIR F Faftrd RIH|

37.2) Locate and label any 3 from the following with the appropriate symbols on the same given outline
map of India.

1) A Software technology park in Maharashtra. 2) Coal Mine in Jharkhand

3) Tallest Dam in India 4) A Seaport located in West Bengal




YR & 3T T T urar aAfa R fFgfafea & 3 f$= 3 &) Sfa udie! & Iy @ ik d9d 3L
1) HERTY H Us ArweddR Wit Ut |

2) IR ¥ PIgell WaH

3) YRd &1 &Y ST diY

4) Uiy §a # fUd T deiTe

Note: The following questions are for visually impaired candidates only in lieu of question number 37.
Attempt any five questions.

A) A place where peasant satyagraha took place.

B) Place related to Indian national congress session of Sept.1920.

C) Software technology park in Maharashtra.

D) Coal Mine in Jharkhand

E) Tallest Dam in India

F) A Seaportlocated in West Bengal
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CLASS X Subject:- Artificial
Intelligence

Max. Marks: 50 Time: 2 Hours

General Instructions:
1. Please read the instructions carefully.

2. This Question Paper consists of 21 questions in two sections: Section A & Section B.
3. Section A has Objective type questions whereas Section B contains Subjective type questions.
4. Out of the given (5 + 16 =)21 questions, a candidate has to answer (5 + 10 =) 15 questions
in
the allotted (maximum) time of 2 hours.
5. All questions of a particular section must be attempted in the correct order.
6. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS):
i. This section has 05 questions.
ii. Marks allotted are mentioned against each question/part.
iii. There is no negative marking.
iv. Do as per the instructions given.
7.SECTION B - SUBJECTIVE TYPE QUESTIONS (26 MARKS):
i. This section has 16 questions.
ii. A candidate has to do 10 questions.
iii. Do as per the instructions given.

iv. Marks allotted are mentioned against each question/part.

Section—A

Q 1. Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4 marks)

Which of the following is not a form of written communication?

! a) Circulars
b) Reports
c) Discussion
d) SMS
2. refers to focusing human efforts for maintaining a healthy

body and mind capable of better withstanding stressful situations.
a) Mental Health
b) Emotional Health

c) Self-Management




d) Stress Management

Pranjali gets up at 5 am and goes to her badminton classes. Then she comes home
and finishes her homework before going to school. She does this all by herself.
No one tells her to do it. This is an example of

a) Self-motivation

b) External motivation

c) Both self and external motivation

d) Not any specific type of motivation

One of the most important contributions of ICT in the field of education..........
a) Easy access to teaching

b) Easy access to books

c) Easy access to learning

d) Easy access to workload

Positive impact of entrepreneurship on society is
a) Accentuates economic Growth

b) Encourages welfare of the society

c) Solves the problems of the society

d) All of the above

Choose the option which is not a sustainable development goal according to United Nations.
a. Clean Water and Sanitation

b. Gender Equality
c. Population

d. Reduced Inequalities

Q2. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)

1.

An organization is using a Al enabled Security surveillance system. Surya works as a Security
guard in the Organization. Due to usage of Al enabled security system he has a feeling that he
may not be needed in the near future. What is this situation?

a. Data Privacy
b. Al Bias

c. Al Access

d. Al is creating Unemployment




Rajan is an employee in MNC, whenever he feels stressed, he would like to spend some
time with friends, listens to music and relieves his stress, He possess

Intelligence.
a) Kinesthetic
b) Spatial
c) Inter Personal

d) Intra Personal.

Results based on discriminatory assumptions made while developing algorithm by the
developer is called as __

a) Al Ethics
b) Al Bias
c.)Test Data

d)Training Data

[uy

IArun was confused with the terms used in the evaluation stage. Suggest him the term used
for the percentage of correct predictions out of all the observations.

a) Accuracy
b) Precision
c) Recall

d) F1 Score

The Al Project Cycle is a that a company must follow in order to derive value
from an Al project and to solve the problem.

a) Step-by-step process
b) Random process
c) Reverse process

d) None of the above

Google Assistant, Alexa, Cortana, Siri are examples of
a) Script Bot

b) Smart Bot

c) Sling Bot

d) None of these

Q3. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)

\What is the process of extracting emotions within a text data using NLP called?
a) Sentiment Analysis

b) Emotional Data Science

c) Emotional Processing




d) Emotional Classification

2. Modern NLP algorithms are based on machine learning, especially statistical machine

learning.
a) True
b) False

3 \When the prediction is False and reality is True, that condition is called...........
a) TN
b) TF
c) FP
d) FN

4 What is a chatbot called which uses simple FAQs without any intelligence?
a) Smart Chatbot

b) Script Chatbot

c) Al Chatbot

d) ML Chatbot

5 \Which of the following is an example of an application of Computer Vision?
a) Word processing

b) Speech recognition

c) Facial recognition

d) Data encryption

6 iAssertion (A): Computer vision can be used in automated quality inspection in
manufacturing industries.

Reasoning (R): Automated quality inspection systems use computer vision to identify
defects or irregularities in products on a production line.

a) Both A and R are true, and R is the correct explanation for A.

b) Both A and R are true, but R is not the correct explanation for A.
c) Aistrue, but Ris false. D. A is false, but R is true.

d) Both A and R are false.

Q4. Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)

Image refers to the quality and size of an image in terms of the numbers of
pixels it contains, typically as ‘width x height’

(a.)Quality  (b)Density (c)Resolution (d)Intensity




Which of these is not an NLP library?
a) NLTK

b) NLP Kit

c) Open NLP

d) NLP Suite

lAnaya is talking about various stages of Al Project cycle. She is telling that, in this stage we
acquire data for the project. She is talking about stage of Al Project Cycle.

a) Problem Scoping
b) Data Exploration
c) Data Acquisition

d) Modelling

—

\What is the name of the popular programming language used in data science?
a) Java

b) Python

C) c++

d) c

element helps us to understand and categorize who is directly and indirectly
affected by the problem.

a) Who
b) What
c) Where
d) why

Recall method is not depending on True negative. (True/False

Q5.

Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)

In Weather forecasting system, to predict the temperature, rainfall and etc. The
type of technology used is

a) Computer Vision

b) Predictive Forecasting

c) Natural Language Processing

d) Data Mining

'Which data science tool is used for data visualization?

a) Tableau (Matplotlib, Seaborn, etc.)

b) Bar graph




c) Statistical science

d) Data Processing

3. |[n spam email detection, which of the following will be considered as “False Negative”?
a) When a spam email is mistakenly identified as legitimate.
b) When an email is accurately recognized as spam.

c) When an email is inaccurately labelled as important.

d) When a legitimate email is accurately identified as not spam

4 What is important to make a Good Al Machine?
a) Algorithm

b) Data

c) Test cases

d) All the above.

5 Statement 1: F1 score is evaluated based on precision or recall.
Statement 2: When the F1 score is 0, the model accuracy is 100%
a) Both statement1 and statement 2 are correct.

b) Both statement1 and statement 2 are incorrect.

c) Statement 1 is correct but statement 2 is incorrect.

d) Statement 1 is incorrect but statement 2 is correct.

is the Al technology used by Internet service provider?

a) Data Science
b) Machine Learning
c) Computer Vision

d) Natural Language Processing

lAaron is facing issue in his internet connectivity at home. He called customer care service,
A virtual assistant took his complaint and replied with an acknowledgement number. What

SECTION B (SUBJECTIVE TYPE QUESTIONS)

Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6 marks)

Answer each question in 20 - 30 words.

Feedback is the final component and one of the most important factors in the process of
communication. Give two reasons to justify why feedback is important.

Disha is going to start a new business with own investment. What qualities she should
possess to work independently .




3 /Aisha is searching some contents related to sports in search engine but during searching 2
help her about how to prevent her data while using the internet?

9 Sameera is always punctual at school. She has a regular schedule that she follows every day. She |2
plans for study and play time in advance. Enlist the four steps Sameera must have followed for
effective time management.

10 \What are the core skills required by a person who wants to contribute towards environment? >

Answer any 4 out of the given 6 questions in 20-30 words each(2 x 4 = 8 marks)

11 |How do you understand whether a machine/application is Al based or not? Explain with an |2
example.

12 JJhanvi is working for Al project to be implemented in her organization. She has been given |2
instructions by her seniors to maintain the quality of data being collected. Suggest her the
data features she should consider while data is collected.

13 |Ajay wants to access data from various sources. Suggest him any two points that he needs to 2
keep in mind while accessing data from any data source.

14 |Differentiate between object detection and image classification. 2

15 |Differentiate between a script-bot and a smart-bot. 2

16 |Which evaluation metric would be crucial in the following cases? Justify your answer. 2
a. Mail Spamming
b. Gold Mining

Answer any 3 out of the given 5 questions in 50- 80 words each (4 x 3 = 12 marks)

17 |What do you understand by training data and testing data in context of Al project cycle. 4

18 | What s an Artificial Neural Network? Explain the layers in an artificial neural network. 4

19 Many of us use online shopping platforms, when we browse products these platforms often
suggest related items or send promotional e mails., Why do online platforms make such
suggestions?

20 Create a document vector table for the following documents 4

Document 1: Divya and Rani both are stressed
Document 2: Rani went to a therapist

Document 3: Divya went to download a health chatbot




21

An IT company situated in Bombay developed an Al model which predicts the purchasing
of electronic gadgets. During testing, the Al model came up with the following predictions.
Based on the given predictions, calculate the following Confusion matrix -

Reality
Confusion Matrix YES NO
60 25
Prediction YES
5 10
NO

How many total tests have been performed in the above scenario?

Calculate precision, recall and F1 score.







